
 

Math 1172
Homework 9

Section 11.1 65 71 78 84

Section 11.2 17 23 58 60

111 65

1 1000 1.065

a first 5 terms 1000.1.06 10001.062 10001.065

a 1000.1.06 r 1.06

b It diverges because r 1.06 which is greaterthan I

11.1178 an m 3n 3 is increasing

we need to show
ant an

i e show http 31m11 3 m 3h43

whith is sameas n 3n 3h 1 3 3 3 m 3 3

n 3m 32

so we need to show 3n13n 2

whin is true since n 1



11.2 1722 3 4 163 6 t

This is geometric a 3 r

Irl I s it diverges

tt
ÉÉÉÉ this is geometric

a 2 92 1 272

a xt2 r xt2

so it converges for all x where 1 2 1

That is 10 2 1

i e 14 43


